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1 SR | B XIE 25.4 25.2 18.4 17.8 86.8 SGiRu
2 SR SCH Bk 25.6 25.33333333 | 16.83333333 18 85.7666667 SCihul
3 IEES EIN 25.8 25 16.2 16.8 83.8 SCihul
4 BN Bk 25.2 23 16.66666667 | 18.83333333 83.7 SChan
5 2| EL Xk 25.8 24.6 16.8 16 83.2 Wt
6 E97 FIN 26.2 24.4 15.6 17 83.2 SChan
7 R SiE4 |23.8333333 24.5 17.33333333 17.5 83.1666667 SChan
8 B N 25.8 25.6 15.4 16 82.8 SGipul
9 s BIE4 123.8333333| 23.66666667 | 17.33333333| 17.66666667 82.5 SChan
10 T 2 A% 24.8 24.33333333 15 17.5 81.6333333 SChan
11 BRse H 24.6 23.8 16.6 16.6 81.6 SEhan
12 BRI K, =k 23.8 25 17.4 15.2 81.4 yihul
13 i Bk 24.8 22.83333333 | 15.16666667| 18.16666667 | 80.9666667 SEhan
14 PN N 24.8 25 15 15.6 80.4 HHak2A T 5%
15 =Y(libas Ek 23.1666667 | 24.83333333 17.5 14.66666667 | 80.1666667 | HiFE2fi L5
16 FLERRG B 22.6 2216666667 14 15.83333333 74.6 HHak 245 5 5%




